BIANISZAATLRAAT a7

Gl L K -
A jil LA R B
2—0 2—1
2—-0
3 2
0—2 0—9
0—2
0 0
FER B A 1—2 20 T
(Ocean) 1 3
BIANIVSAETAZRAB vy
i T & ; - .
T e iz i T W R | WEbaR | N fir
ot i 0—2 12
N i s ) . ) ;
U SE) 0 1
A3 R 20 N EEXI 6 1
R - J
TH o 21| o=z T ) ;
(FE—F) 2 0




BIXBISAXTAARAAT oy Y

YN

SR

i

B S - o7 = "
—— gaA e =+ Y B OB | MboE | IE
R A 2-0| |[2-0]| |2-1
AR HERER ob— o - - . )
Wi A 0—2 > 1] |o-2
(Yﬁoiyay}) 0 O > X . 1—2 9 3
EF'%(:W@% S Aip)
AGH FZE 0—2| [1-2 =N .
T - ! 0
g 1—2 2—0 o0
HH 1 O o Y ] )
(9 A7) 1 3 3
BFBIFARFTNVABTuvyy
R Ji A T — -
S A | Vel e | B | BeA | R
A fE— » o y L ; .
JéjME]Zﬁj> 0 2 1
HOoRTn o — —
e — ool s 0| s 1
P - ’
A6 2 . — 12| s 2
i : ! J
7T — — —
Sl e | 21 02 |02 1, ,
(YBC) 2 0 0
BIBIZSAETARCTayr
T Ll NI ] TR .
e P — —
i i y " - L ) .
SIIR [/ ! ! 2
i3 21 1—2 1—2
JMEESB) 2 1 1
N 7 21 o _ 1 P
R ZEH o - .o ] )
ER(zgsc) 2 2 3
TR 6 — T T
W b B
(= ki) 1% 1 1—2| 3 4
(5 F2 7 7)




BIPILE I FAETITINVAAT a7

1

H

(=EiR

NS

n . "
— = +H N:E ikt 1 B B BeR | B
KE = P — —
T e . Lol s 3
(e A2 0 0 3
o > o — —
NI . o 1| - 0
R 3 1 3
7 T S - —
by . v ol s )
&> e 0—2 0—2 0—2
EE IR o_al o A
(JEL . T 3%) O 0 0
BIOILE I FAXTNVABT oy r
g FE Z I "
oy 2—0 2—0
T BN : O - ] )
SR - -
{¥F 1 0_ o P
EAIPN O _— ; 0
%‘Fé/g et {HE> 0—2 0—2
AN 0o 0 3
(75 BUE-) O 0
BILEI FAZTNVACTa Y
AN KIR ANl —
S—— FE LT Bk G | B OB | BhA|E f
ol 4 50 50
B 5 _ 0 5 1
L) ’ ’
Bk ek 0—2 20| . ; 5
e :
0% v = 0O—2 0O—2
FaE K - - 0— o 0 3




BIAVSAFET AR B

S T K TH | . -
TN E0S N i HER T | B OB BRI
u_ﬁr"?‘g V7 2—1 2_0 2_0
+E S O o o= o . :
%%g§7> 2 3 3
L o—1| |1-2
H R . y L ) ;
Jé%ﬂ%j#(ﬁﬁ) 2 1
K Ew 0—2 1—2 0_ o
SN i 8 X 0—3| 1 4
@) ) 0 1 0
¢H%%fn 0—2 2 —1 2—0
TR | . - 1. ;
(€ S—d) 0 2 3
BYBIIFGARAETNA ThBR
SeJIu i T —
BT i A il wgr | B OB | B5R R
78] — —
S NI (=19 N2 o 2—0 y 0—2 L ; B
%@%ﬁ?7) 3 0
IS N = . —
L (22 0—2 0 3
S - k
i 2—0 2—-0
e 2 o o o ] )
(YBC) 3 3
BFHLEI FRAETNVAR BB
T | TOF | BE _
S— dk | Bo- | mm | B O B5R| IR
ST ol o], T 4 ’
i ’ ’
i - :
WE AR || 02 Lozl T, ;
NI o
o 7 0—9 2o
EH KE % o L ; )
(Ocean) 0 3




BFCIFGARAETNAATuy 7

ETIE

HI

JIFS

B

i -0 A sl Wi | ® OB muR R
\F%ZK Eﬂ%é 2—1 o 2—0 2—0 3_ 0 3 1
N - oY 1 R ISP 3
i oiz 2—0 : 2io
M e 91 6 2
T Oi2 Oi2 - -
BN REsF % 0—3| O 4
I b 0 0 0
BAYCIFARFTNVABTuvyy
R I R
%ﬁ %% 20| |20 2—1 5 ol s 1
Al = > 0—3 1 4
Eh Eﬁé 0—2 2—0 1—2 1 —o 4 3
ek 2) 0 3 1
I EX e N BRI N o 1l s 5
(5 EUE ) ! 2 2
BFCIFGRAETNAC Ty Y
rol EEc o N LR
U@V@.E?g: o-2| |1-2] Jz-o] | 3
AR LB S o el O Rl PR 2
R ?%J%SB) 5—0 9 1
(YOI =y h) 2 0 3
Ta e 0-z| |0=2] Jo=? o-3| o | 4
(Z48) 0 0 0




BFCIIFARAETNAD T uvy

A B ok TE | e o n

b - 2—0 2—0 2—0
T o o s_ol o 1
s e
EIS 71 _ _ _
TR 2 o—= el 91 IRl I B 9

Ao | ’ !
I g 0—21 102 il NS 4
M) 0 0 1
LI B o—2| [2—1] [2—1

(75 S ) 0 2 2

BYCIFGARAETNRARETuv
2l R T T T " "

e AR P 2 f}f;ﬁ( B | BoR | B £
RS ) Il Il Y Il DS R B

(A2 ! 3 3
LT 2—1 2—0 2—0
Wl L B
(k=) | O OF— —13-0| 8 1
iR
i 02| |92 2 00 ol 4 9
o) 0 0 3
TNER ELE 0—-2| |0—2| |0~z o—al o 4

(430 0 0 0




BYCIIRETNRFTuvyy

Bt ] R b

3 i 0 R B Ak 55 A JIE iz
B 12| [2-0
- x O 11 4 o
NBC) 1 3
% 2—1 2—1
S @ O °o—-0 | 4 1
c—) - 2
o 0—2 1—-2
% X 0—2 1 3
%BC) 0 1
BYCIFAXTNARGTa Y
it Ve TR ) — —
N i A B B | BHsl | E AL
% 2—0 2—0
O O 2—-0 6 1
; 0—2 0—2
| y 0o 0 3
ytus) O O
RIT 0—2 2—0
x Or— 1—1 3 2
CRLi#) 0 3




BFCIFRETNR .92

R =R
v | ) B A (LE1777)
AR 2 2 0 e BZ (REF777)
LI =N o | 2 LRSI
F (bAtE=F) B
fin ok 2o BIE
In— AERIAD!
Sl F == 0 1 1 bﬂﬁ% S
C N o (CCB) —
AR XH 2 I PR (ke -)

N R o)



EFEXITNVAAT O YT
?ﬁ? zgi ;%; BB | Wb | NE
TR AT — p—
ZIKFlEﬁ( r?%’{i‘/w O O 2—0 6 1
*(;?ﬁ]\?l:x - C) 3 3
[l W 0—2 2 -0
Ve LR o L1 o 5
ks e 0—2 0—2
A IRAY % 0 o 0 9
(Z4) 0 0
ﬁ‘%ﬁ‘j‘ﬂ/}(B‘jD > J
w5 Tz Vel » » —
e A B Wk B R | Bsbal | NE fL
1 & 2—0 2—0
NI Z DR o O 50 6 1
(YLQ I‘;éa v M) 3 3
TR O o 2 O . 2
ﬂ@& (e y 0— o 0 9
—ANCSID 0 0
HH 4 & — —
wEAK AL 0 20200 o ; 5
(Z &) 0 3
EFFITANACTuy
LI TER T » » —
SR HES AR ok B | BB | IEfi
e 2-0| [2-0
HH & % O > O - 2—0 (5] 1
(;‘E’Ejié> = )
TR e A —
ZIKFEﬁ EIHZY O - {1 5 2
PSR T - -
e T 0—2 0—2
FE T % 0o 0 9
(C &) 0 0
ZF X TANADTuy
A WRTD 31 " » —
- L Eith e | B M| mBA |
1 2—0 2—0
WEY FifE+ o ( o ( 50 . 1
T S - ’
it = 0—2 20
o o= o \ 5
) o - ’
) sk 0_ o 0— 2
A NI S - " 0 0o 0 3




SR g (M)7)
KR BAE @0
i b
A BAAK
AR WxE
(RN
FLHL T
B FfET

(Z&H)

(F—%)

ZFETI)VR b
2 2
o |2 of o

0 2
0 I 1 0
2 2

o (M)
=T B
wen xp FH
W e

o=
Bl w0
5 T

ML - D (YOTVay 1)



BIAVSRAI VIR

& HE 5% s BX s B JIlE  fr
P —5L 2—1 1—2
) O 1—1 3 9
(7 A7) 2 1
FE 1—2 0—2
X 0—2 1 3
(USB) 1 0
i M SlN 2—1 2—0
O O 2—0 5 1
(USB) 2 3
BIBIFRAI VI NRA .93
FH B B B B fH = =R iv2
HY K& 0—2 0—2
_ \ X 0—2 0 3
(= AGHEAR) 0 0
B EA 2—0 2 —1
- O 2—0 5 1
(Z4:H) 3 2
B 2—0 1—2
O X 1—1 4 9
(NCSH) 3 1
BIOLE T SAV VT NVAR Bk
PE I = AN B B Mt = =R iv2
[l 0—2 2—0
\ X 1—1 3 9
(T 2%) 0 3
FA-fE P 2—0 2—1
\ O 2—0 5 1
(T 2%) 3 2
s RN 0—2 1—2
. X X 0—2 1 3
(T %) 0 1




BIBIFRAVVINVAAT Y

FH A HL el & H B B BB | B
HY K& 2—1 2—1 2—0
. \ O O O 3—0| 7 1
(= AaeHedn) 2 2 3
FRL AU 1—2 2—1 1—2
. O X 1—2| 4 3
(Z5H) 1 2 1
)1 R 1—2 1—2 1—2
. X X 0—3 3 4
(Z4H) 1 1 1
fmHE A 0—2 2—1 2 —1
. O O 2—1| 4 2
(Z4:3H) 0 2 2
BFBIIFGRVVITNVABTavw oy
VD =4 HH EarRK | B BB |IE
S VAN 1—2 2—0 0—2
\ X O X 1—2 4 3
(A7) 1 3 0
‘B A 2—1 2—0 2—1
. O O 3—0| 7 1
(Z4H) 2 3 2
HHE 0—2 0—2 0—2
. X X 0—3 0 4
(Z4H) 0 0 0
e K RE 2—0 1—2 2—0
B X O 2—1| 7 2
(Z4H) 3 1 3
BIBIZSRAV VI NARC Ty s
HrH H k= P2 B B | BsbE | IE I
B E 2—0 2—0
O O 2—0 6 1
(NCSH) 3 3
H F E 0—2 2—1
- O 1—1 2 9
(Z4:H) 0 2
P TE 0—2 1—2
B X 0O—2 1 3
(Z4:H) 0 1




BICIFRAVVINVAAT Y

L AR s ER)l | B BB | IE
Ll K 2—0 2—0 2—0
O O O 3—0| 9 1
(A Z) 3 3 3
AR B 0—2 2—0 0—2
. O X 1—2 3 3
(Z5%H) 3
PSS ST X X X
. X X 0—3 0 4
(FT2)
BRI B 0—2 2—0 2—0
O O 2—1 6 2
(A Z) 0 3 3
BFCIIFRVVITNVABTawvr
SLIL D JINAR Hhk B | BbE | IE
Ll F 2—0 2—0 2—0
\ O O O 3—0| 9 1
(A7) 3 3 3
SV N 0—2 0—2 2—0
_ X O 1—2| 3 3
(Z5H) 0] 0 3
AN NE! 0—2 2—0 2—0
\ O O 2—1| 6 2
(RT3 3 3
PR B X X X
X X 0—3 0 4
Oy =AR)
BICIr7SARAV VI NARCTayy
FH 32 iz} FH 38 B | BB= | IE I
HY Bag 2—0 1—2 2—0
O X O 2—1 7 2
(Red Spirytus) 3 1 3
M0 B 0—2 0—2 2—0
. X O 1—2| 3 3
(Z5%H) 0 0 3
) 2—1 2—0 2—0
\ O O 3—0| 8 1
(RT3 2 3 3
e 1EHE 0—2 0—2 0—2
% X 0—3| O 4
Oy 2 AR) 0 0 0




BICIFRAV UV ITNVADT oy ”

& H FINAR AR Kl B B BB | B
EH ER 2—0 0—2 2—1
X 2 —1 5 9
(Red Spirytus) 3 0
JNBR X X X
- X 0—3| o A
(Z4H)
A K 2—0 2—0 2—0
\ 3—0 9 1
(FT2) 3 3 3
Al g 1—2 2—0 0—2
. X 1—2 4 3
(7 R ) 1 3 0
BFCIIFRVVITNVAET gy
V=PiR i) VINSES I B B BsBE | IE
P = 2—0 2—1 1—2
O 2—1 6 9
(Red Spirytus) 3 2 1
pIEAS 0—2 0—2 0—2
B X 0O—3 0] 4
(Z5H) 0 0 0
KiE —FH 1—2 2—0 1—2
) 1—2 5 3
(RT3 1 3 1
W FHER 2—1 2—0 2—1
. O 3—0 7 1
G =3 2 3 2
BICISAVUVINAF T ayr
il # H 1 i HH B | BB= | IE I
el Fnfy 2—0 2—0 0—2
O 2—1| 6 2
(Red Spirytus) 3 3 0
H 0—2 0—2 0—2
B X 0O—3 0 4
(Z5%H) 0 0 0
) E 0—2 2—0 0—2
1—2 3 3
(RT3 0 3 0
fEH By 2—0 2—0 2—0
. O 3—0 9 1
Gigse=di)) 3 3 3




BICIFRAVVINVAGT oy r

AR FA-J /N il | B OB | bR | B 4L
el 817 2-0 0—2 2—0
e O - X . O - 2—1 6 2
Ttjal B 0—2 0—2 0—2
(=40 0 o T o0 0|4
/N BRAT 2—0 . 2—0 . 2—0 50 9 1
(R T.3%) 3 3 3
Jr il SR 0—2 . 2—0 y 0—2 L . 9
(R T.3%) 0 3 0
BYCIFGARAVVITNVAHTav o
Ri6 /)N fEA FE | B OB | BbR|IE
Ri& 2—0 2—0 2—0
S O - O - O - 3—0 9 1
/INBIT R 0—2 0—2 0—2
(=440 0 T I To 103 ©| 4
A ik 0—2 . 2—-0 y 1—2 L 4 9
(R T3) 0 3 1
s RIS 0—2 2—0 2—1
(RT3 o 1 5 1= 21 5| 2
BFCIIFGRLVINARTI Tuyy
#H SH /N NEFE B OB | BR[| IR 4L
HH O ORZE 2—0 2—20 2—0
(NBC) - 3 - 3 - 3 30 Y 1
S 0—2 0—2 0—2
(=40 0 o T 102 | 4
NI 0—2 2—0 2—0
(R T 3) o | T 5 S S 2
/NEPEL BERh 0—2 . 2—0 y 0—2 L o 3
(Z5H) 0 3 0




BFCIFGRAVVINR BB

FoE BEA  Grotg)
G /M FES (RRTH)

— 1 il (40)
E B3 MR Gtk ) .
) W S (RkTE)
H EfE E— () 1 ) ) ]
; #H K72 (NBC)
A Jul A GHERE) -
A B (RRIH)

—



BZOLEIGA VI NVAAT ey Y

by e [lEE7 FREAI] B B BbE | IE
e % 2—0 0—2 1—2
O 1—2| 4 3
s S AK) 3
g 5 X X X
X 0—3 0 4
OIS EAR)
PEYR 2—0 2—0 2—0
e |© O 3—0| 9 1
(BT %) 3 3 3
FEA] AT 2—1 2—0 0—2
e O 2—1| 5 2
(BT %) 2 3 0
BILEI SRV UV IANABT vy s
=N A it Kk B | BbE | IE
B 15 0—2 0—2 2—0
X 1—2 3 3
OIS EAR) 0 0 3
Ml By 2—0 0—2 2—0
. O 2—1| 6 2
Gioe =3 3 0 3
FA-fE P 2—0 2—0 2—0
e |© O 3—0| 9 1
(LT %) 3 3 3
Kk ER 0—2 0—2 0—2
wr | X x 0—3| O 4
(LT %) 0 0 0
BIOILEI SAV UV I NVACTay s
Ty G M T B B | BbE | IE
INRE = X X X
% 0—3| 0 4
0)175:3:-%29)
B PN 2—0 2—0 2—0
o 3—0| 9 1
(LT 2%) 3 3 3
A fimw 2—0 0—2 2—0
O X 2—1 6 9
(T 2) 3 0 3
i # 2—0 0—2 0—2
O X 1—2 3 3
(LT 2) 3 0 0




